
SAP ABAP table CVWORDE {Structure for change documents in VWORDE}

CVWORDE

BUKRS [CHAR (4)]

RANL [CHAR (13)]

RLDEPO [CHAR (10)]

SSTATI [NUMC (2)]

SBEWART [CHAR (4)]

SBEWZITI [CHAR (4)]

SNWHR [CUKY (5)]

SBWHR [CUKY (5)]

SCWHR [CUKY (5)]

RBANKK [CHAR (10)]

RKONTRA [CHAR (10)]

SCRWHR1 [CUKY (5)]

SCRWHR2 [CUKY (5)]

RDEALER [CHAR (12)]

RZBANK [CHAR (10)]

RHANDPL [CHAR (10)]

OBJNR [CHAR (22)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 CVWORDE-RKONTRA = BUT000-PARTNER 

0..N

1

 CVWORDE-RZBANK = BUT000-PARTNER 0..N

1

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 CVWORDE-OBJNR = ONR00-OBJNR 
1

1

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 CVWORDE-RBANKK = SKB1-SAKNR 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 CVWORDE-BUKRS = T001-BUKRS 

0..N

1
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CVWORDE-SBWHR = TCURC-WAERS 

0..N1  CVWORDE-SCRWHR1 = TCURC-WAERS 
0..N

1  CVWORDE-SCRWHR2 = TCURC-WAERS 0..N

1  CVWORDE-SCWHR = TCURC-WAERS 

0..N

1
 CVWORDE-SNWHR = TCURC-WAERS 

0..N

1

TWD01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RLDEPO [CHAR (10)] CVWORDE-RLDEPO = TWD01-RLDEPO 0..N1

TWH01

MANDT [CLNT (3)]

RHANDPL [CHAR (10)]

 CVWORDE-RHANDPL = TWH01-RHANDPL 

0..N

{0,1}

TZB03

SBEWZITI [CHAR (4)]

 CVWORDE-SBEWZITI = TZB03-SBEWZITI 

0..N

1

TZB0A

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SBEWART [CHAR (4)]

 CVWORDE-SBEWART = TZB0A-SBEWART 

0..N

1

TZC37

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

GSART [CHAR (3)]

STATU [NUMC (2)]

 CVWORDE-SSTATI = TZC37-STATU 

0..N

1

TZDEA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RDEALER [CHAR (12)]

 CVWORDE-RDEALER = TZDEA-RDEALER 

0..N

1

VWPANLA

MANDT [CLNT (3)]

RANL [CHAR (13)]

 CVWORDE-RANL = VWPANLA-RANL 

0..N

1


